{0803 356@mangdsms Lol@gdol 53mblbs MATLAB-3o

sMlgdmdl (@03 gobGmamgdoms s3mblbols d@sgsemo dgmmwo, og@sd momJdols
yggeos  domgobo  dmombmgl  d@sgomo  godmmgmomo  m3gasEool  aobbm@®ogegdsls,
Omdgemns  gbOymgdolols  sgomse  dgodargds  ogydgom  Igamds, Sdo@md  dom
Sdmloblibgaro@ dognby dmbg@bgdygemos 3md309Gg@ol godmygbgds.
gmdgom Imzgdgmos N gEbmdosh M {dx03 3obGmagdsms Loli@gde:
Ay X +a,X, +..+a, X, =b

1n*n

Ay X, + 85X, +. X, =D,

Ay X +8,,X, +..+ 3, X, =D,

nn°'n
Lobmpome 93bmdms @oibgo N s go@ols obBmegdbsms M @Goibgl. my M=n, d5dob
LobEgdol ggo@s@yemo gfmwgds.
LolBgdol gfmegds moglgdowo, mey ol goshbos gemo dsobg sdmboblibo, Lbgs
‘dgdmnbgggedo ol s@omoglgdswos.
doB®03900L gbsbg gl LolEgds dgodargds hoofg@ml dgdwgao Loboo:
AxX =B.
gondgom dmEgdgmos ggoems@gmo LbobEgds, 35906 A 35dMoGo3 33o0Ms@ o
©5 AORMOGE g0 Jod@sddo Jobo © B @dobobdo asdmomgagds det(A) gubdioom.
305390l Fglbols mobosbdo@ N 93bmdosh N FOg0g gobGmengdoms moglgdswos
s> oJgl  ghmsg@mo  sdmbsblbo, g LobEgdol  gBg®dobsbBo  aoblbgsgogds
byeoligob ©s gl sdmbsblibo godmomgergds dgdpgao Rm@IYe gbdom:
j

X, =— j=12,..,n
A

boo A 0G0l ©adbdody ©gdg@dobsb@o, 56 A dsGGogol ©g@g@dobsb@o, @mdmol

J-96 Lggd o hofg@omos mogolyaomo {gg@gd0L B Lggdo.

3OMbg39M-353gemols mgm®gdols mobsbdo@ N 9Ebmdosh M FOgog gobGmenrgdoms
Lob@gdol  mogbgosmdolomgols  osy@oergdgeo  ©s  bogdo®obos,  ®md  LoliGgdols
do@®ool @obyo gomowgl dobo aoxgs@mmgdbyao ds@@oiol @sbal. (‘dgaobligbgdm,
M3 oR5OMMgd o IoG@oEs Joowgds A Is@@oiEologsh  msgobyggemo  §gg@g9dols
LggBol dofg@om). msbsi my LolBgdol @sbao Yo®ol PEbmdms N @omgbmdsl, dsdob
3obAM@gdsls ogb gOmoghmo 5dmbsblibo, oby Lolgds goblsbwgdymos, bowm my
LolBgdol @sbgo bsgangbdos N-bg 35Tob LolEgdsl oJgl YLolOymme d9360 5dmbsblibo,
oby  gobyglobrg@mgmos.  (Is@esaddo A Is@@ozol  @sbyo  asdmomgmgds  dgdgao
396Jzoom  rank(A) aoxns@mmgdgemo g9bdiaools Gobyo go dgodangds obig aodmgmgsgmn
rank([A B])).

s@lgdmdl  FOgog aobHmagdsms  LobEgdol sdmblbols I@sgogmo  bybEo s
dosbanmgdomo dgmmeo. dosbgnmgdomo dgommegdo Lakodms @m@Es LolGgdsdo dogrosh
39300 9Ebmdo s AobBmengdss ob 35dob @mEs LobEgdol ©g@gMdobobBo sbarmlos
byenmasb. hggb gobgobogsgm dbmenme @sdmegbody bylE dgmmel.

Omam0O3 9339 >0gbodbgm N ygiEbmdosh M Fagog asbGmagdsms Lol gds
do@®ogdol gboby dgodangds hoofgaml dgdwogabso@s:

Axx=B (D
Loo X ©s B Uggd 39dopmegdos, ob
X*A=B ()

oo X s B La®odmb ggddm@gdos.

09 dmEgdgeo  a35dgb N gEbmdosh N FOgog asbmegdoms  ggo@s@ymro
LolBgds, 35Tdob (1) ©o (2) gobdmagdbol m@ogg dboMol  asd@ogargds  dgyg0d@os
LobEgdol A do@Gogol dgddbgdam by A_l—%a (Io@e0oddo dos@d@oiols g ybgdaeols
aodmmgms dgodengds INV(A) 39Tg9mdomss), dogowgdo:



AtxAxx=A"*B
Exx=A"*B
x=A"*B (1)
©S
X*Ax AT =BxA™
x*E=Bx*A"
X=B*xA™ 2)
ooz E gomgygemgsbo dsg@o@iss.
() o (2)) goedymgdo Is@@sddo dgodamgds hoofg@ml \ do@ibgbs ws /
doMx39b> gogmezols Mm3g@sGm@gdols dgdggmdomss:
x=A\B (1)
©S
x=B/A (2”).

Lob@gdol  do@@oiol  Vgd@9bgdaebg  aoddogengdom  dgodengds  sdmoblibols
Tbomoe 0803 asbBomgdsms  ggoe@sdamo  LbobEgdgdo, @opgsh AT =inv(A)
obolobrgmgds dboeme 3350M5H 0 do@Mogdobmgol. oy do@®oiols
©9H9@d06obGo  det(A) byamols Gomos ob Jdgogd 300y Lopowgs doGmoddo o3
d90mpon dowgdygeo sdmbsblibo dgodangds 5@ 5mdmhbegls LFm®o, sdo@mad ymggermgols
093mIgbomgdgemos  dgIm{dgdol  Bodomgds X sdmbsblbols A doddoieby
253003@ 9300 9bos dogowmm B, o6 A*xX—B gbos ogml bgemgsbo ggd@m@o.

do@®oizoll gd@ybgdyaby  god@ogmgbols dgmmeoligeb aoblbgsggbomn / s \
M39M5@M@gdol  godmygbgds  dgodergds  gggersbso@o  bmdol  {@xgog  aob@magdsms
Lob@gdobomgol. ggo@s@yeo ds@@oiol dgdmbgggsdo m@Mogg dgmmeo gOmbso® dgwgyl
odgmggs  mOmbe  aodmobao®odgds  begds  Lbgopolbgobso@o.  335005F @0
dod@ogoobmgols /s N 203m05bas®0dgds  aoglol  godm@oibgol  sepam@omdon,
505335005 g@molmgol 3o 9dEodgl  gge@sGms  dgmmeom. Lobmaswme /s 1\
39053 mAgd0l 253mYygbgds 9RGmM Jobsobdgfmboaros gopdg dgodybgdygeo Is@@oigols
dgomeol, @opash gOmbso®o asdmmgmols LobylGol 30Mmbégddo / s \ m3g@szos
9BO® hloMs O ogds.

dogoomolingol gobgobogomm aob@Gmangdoms Lodyibmdosbo Loli@gds:

3X, —1X, + X, =10 |
2%, +3X, —X; =5
=X +2 X, — X3 =-1]

9L LoliBgds do@Bogymow sy hoofgdgds: AX=B , bswsg

3 -1 1]
X=[x x x| A=|2 3 -1| B=f10 5 -1].
-1 2 -1

‘d9380deo0s LolBgds ds@@oEygmoe Lbgs gm@domsi hogfgomm: XA=B, Lowss:

3 -1 1
X=[x x, x| A=|2 3 -1| B=[10 5 -1].
-1 2 -1

sdmgblbsm gobGmagdoms bgdmmbligbgdyao Lol@gds:
»A=1[32,-1;-1,3,2;1,-1,-1];

»B =[10,5,-1];

»X = A\B;

X=[-2; 5; -6]



39Jdmao0 X dgozsgb  Lowpowggdl: -2, 5, -6. dgagodewos  dggedmfdmo  sdmblbs,
3og5dMogammo  A*X. Jgogaom  dogomgdm  Lgg®  39ddmOL  gargdgb@gdom: 105,-1. X
‘dgodangds slig aodmyggmgogos:

X =inv(A)*B.

09 yoGmagdoms  LobEgdol ©gBg@dobsb@o byaols Fmeros ob Jaog@ di3ody
bowowgs (byemsb sbgom) MATLAB doag0momgdl dgaemdsby  ©o 8 @@ml sdmbsblibo
39Jdm®0  dgodangds dgoiegegl 360dgbgermdgdls — NAN |, +oc, -oc an dgbodangdgeros
MATLAB-35> aodmomgaols sdmblibs, dog@sd doggomomml, @md dgogao ds0bosdsnbs
bobom o s@0b.

N 9Ebmdosh M FOgog aob@dmagdoms LobEgdsl gfmegds gamagesmmgsbo ny

dobo  gggas  mogobygogo (9300  byeols  Fmeoos: Bj=0, j=12,.,n. 09y

9Oma35Mmgobo  LolGgdol @sbao bogergdos N gEbmdms Gomegbmdsby, dob  ggbgds
9od@og0  5dmboblibo  MATLAB 30 dmggi39dl dbmeme  dol  G@ogosgoy@  sdmblibsls
X; =0, j=12,...,n.

N 93bmdosh M {@go0g aosbdmmgdosms Lob@gdol A*X =B sdmblbs MATLAB-d0
‘dgodangds linsolve(A,B) 39600l dgdggmdomsg.

Logo®%0Tdm
sdmblgbom (@xg0g aob@mmgdsms LolGgds ds@@oigdol aogmaolbs s do@®ogools
‘d900996g0gemols  Igmmeom. MATLAB Lsdygogngdomn  dgodm{dg  dowgdyemo  sdmbsblibo
do5®®03900L god@sgagdols Lodgogngdoom.

. _—2x1+x2=—3}
X +X, = 3
) _—2x1+x2:—3}
| —2% + X, =1
5 _—2x1+x2:—3}
| —6%, +3%, =-9
. [ — 2%, +X, = —3}
| —2X, + X, =-3.00001

3%, +2X, — X, = 10|
5 | =X, +3X,+2X;= 5

X X, — Xy =-1]
10X, —7X, +0%X, = 7 |
6. |—3X, +2X, +6X, = 4

| 5% + X, +5X; =6 |
X, +4X, = X; + X, = 2

2%, + X, + X; —2X, = 16
X, +4X, = X; +2X, =1

| 3x, —10x, — 2%, +5%, =-15

\ doB®03900lL do®i3bgbs goymazs
/ do@M03900lL oM ggbs goymaegs
inv(x) X 3@ @00l dgd@9bgdyamols godmmgens
rank(x) X 353®03ol @sbpols godmmgans

linsolve(A,B) AxX=B {09303 a56@dmamgdsms LoliGgdol sdmblibs



dmJdggdgdo dtogomFg3dgdby

bgd0ldogMo sanagd@ o gobGmengds X @3geoeol dodo®m dgodagds hoofg@ml
‘dgdegao dBogo@(gg@ols (3merobmdol) Loboo:

ax"+ax" +..+a,,x+a, =0.

Matlab-do daogomggmgdo  dmozgds domo  3mgn03096Hgool  39dggmdom. dogsmomsw
5X? —7X+14 Boofg@mgds obg p=[5 -7 14].

aobgobogomn
conv(pl,p2)

[Q,R]=deconv(pl,p2)

Matlab-ols 39630900 dGsgoeg30gdmeb badydome:

Pl 3mg8030gbdgdosbo  dMsgomFggmols aosddogangds P2
30080G0gbHYS056 Mg Ta@thy

pl 309803096 gd05b0 dasgoa(g3®ols 3OYMPS p2
3098030963 gd056 B35 F930bg. Q oMol gogmegol  Ygoga o
Jowgdygmo d@sgoa(gg@o, R 3o bsdmo. pl = conv(p2,Q) + R.

3obgoboamon @sdwgbody dsgsgromo:

»pl=[2 0 1];
»p2=[100 1];
»p=conv(pl,p2)
p=[201-20-1]

»deconv(p,p2)
ans=[2 0 1]

»[Q,R]=deconv(p,[1 0 -2])

Q=2 0 5 -2
R=0 0 0 0 10
»conv(Q,[1 0 -2])+R
ans=2 0 1 -2 O

-5

-1

polyval(pl,x)  godmomgaols pl 3mgx03096(gd0sbo dGsgsmgg@ols 360dgbgamdsls X
VadGoedo

»p1=[210-10-3]

»y=polyval(p1,0)
y=-3

roots(p) 25dmomgaols P 3mgR03096@gd0sbo IMsgs@(gzdols ggliggdls

»p=[10 -1];
»X=roots(p)
x=1

-1

poly(x) 2odmomgmol X ggliggdosbo dMsgomFgg@mols 3mgn0i3096@ 9oL

»p=1[2,8,31,80,94,20];

» r = roots(p)

r=
-0.1059 + 3.1661i
-0.1059 - 3.1661i
-1.7602 + 0.7881i
-1.7602 - 0.7881i
-0.2679

» pl = poly(r)

pl=1.0000 4.0000 15.5000 40.0000 47.0000 10.0000
d05J(3090 yudomgds, GmI gR®Ombo bodolbol 3mgxn03096G0 Bglggdowsb sy gbog
dogem(930do gmggemgol gohmols Gmaos.



